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I. 

 8 × 1 = 8

1.  

 (A) (B)  

 (C) (D)  

2.  

 (A) (B)  

 (C) (D)  

3.  

 (A) (B)  

 (C) (D)  

4.  

 (A) (B)  

 (C) (D)  
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5.  

 (A) (B)  

 (C) (D)  

6.  

 (A) (B)  

 (C) (D)  

7.  

 (A) (B)  

 (C) (D)  

8.

 (A) (B)  

 (C) (D)  
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II.  4 × 1 = 4 

9. ― ― …….......…….

10. ― ― ………….  

11. ― ― …………………….

12. ― ― ………..……….  

III.  4 × 1 = 4

13.  

14. 

15.  

16. 



6   RF(A)/100/3349  5 CCE RF  67-S  

    [ Turn over 

IV.  4 × 2 = 8 

17. 

18. 

19. 

20. 

 

V.  1 × 2 = 2 

21. Ë¨ÝÂ¦ìWÜÙÜá ±ÜÅ£©®Ü ÍÝÇæWæ ÖæãàWÜáñÝ¤Ãæ. ÍÝÇæ¿áÈÉ ÓÜíÓÜ¢ñÜ »ÝÐæ¿á®Üá° 

PÜÈ¿ááñÝ¤Ãæ.

Students go to school everyday. They learn Sanskrit language in 

the school.

VI.  1 × 2 = 2 

22. 
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VII. 23.  1 × 2 = 2 

 a)

b)

 

a) = ……………..

 b) = ……..………..

VIII.  1 × 2 = 2 

24. 

IX.  2 × 3 = 6 

25. 
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26. 

X. 27.  1 × 3 = 3

 a)

b)

c)

XI.  1 × 3 = 3 

28. 

XII.  1 × 3 = 3 

29. 
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XIII.  

 3 × 3 = 9 

30. 

31. 

32. 

XIV.  1 × 3 = 3 

 33. .......................................................................................  

......................................................................................
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XV.    

   2 × 4 = 8 

34. 

35. 

XVI.  1 × 4 = 4 

36. 
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i) 

ii) 

iii) 

iv) 

XVII.   1 × 4 = 4 

37. 
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XVIII.  1 × 5 = 5 

38. 
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